AQA-style exam questions.
Answer the questions by typing your answers into the red boxes.

The Nazi-Soviet Pact, 1939
1
Describe the events leading to the Nazi-Soviet Pact of 23 August 1939.
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This cartoon by the British cartoonist David Low was published in the Evening Standard in September 1939.  

It shows Hitler, who is saying: 'The scum of the earth I believe?' and Stalin, who replies: 'The bloody assassin of the workers, I presume?' 

In this cartoon, Low suggests that the Nazi-Soviet Pact was an impossible alliance of mismatched partners, formed only to destroy Poland.

Is this a correct interpretation of the Nazi-Soviet Pact of 23 August 1939?  

Explain your answer by referring to the purpose of the source, as well as using its content and your knowledge.
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In September 1938, Britain had appeased Hitler; in September 1939, Britain declared war on Hitler.   Which was the greater cause of this change of policy:

a. Hitler's invasion of Czechoslovakia in March 1939, or

b. The Nazi-Soviet Pact of August 1939?

You must refer to both factors when explaining your answer.
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